s Ol BEA [HZUSE ALLSE AHAL &
@ @&@(ﬁ% Mol B4 U S AL QA A
0lE: ) %
1 3 3.1
28(= —=)=7 = =54+ — — =
8(2 5) 7 (30+5 4)><2
1 1 3 1
—tz(=1t-)= 12(- —2)+4 =
5 3(4 4) (4 2)
3.1 1.1
=4+ — — = ~6— — — =
(B8+4+ )% 5 (366~ 3)% 3
1 13 1 1 31 3
—_— (= — =) = —_— (= 4+ =)=
5 6(2 2) 6 4(2 2)
I 1 1 33 2
27(= +=)+9 = 122 A
7(2 6) ? 2 2(2 5)

www.snowmath.com



https://www.snowmath.com

i fateap e

0| F:

1 3 2
B3 -3)7=(3)

1 11

11 1
—t=(=+t-)=—
5 34 47 30

1 1 3
_4+ _:__:1_
8 )XZ 8 8
1 13 1 1
56927 %0

1 1
27(-= +=)+-9=2
(+¢)

.
(30+5+§)x%=%7_:3§
(36 = 6—%) %:1741:2%
e e e

33 2 23 3
- 5(5 - g) = (—%) = (—1%)

1
2

www.snowmath.com



https://www.snowmath.com

